
 
 

 

 

—

3

1

3

2
#2

3

1

3

2
#2

3

1

3

2
#2

:

:

1

2

3



314 035804 2

3

1

16
3

2
3-1

200 .1

x%

x%

144.5

ABCD 2 

y x3
1

6= - + AB

y x5 20= - + AD

(2 , 3)  

C

B

D

AC A C BC

3

A

C

D

B



314  3

0.2  .3

4

2 1

2 2

3

3

1
 

3

2
6-4

60
o ABCD .4

AB M

BC N  

AM BN=  

NDC3,MDB3

ADM BDN3 3,

S DMBN

ABCD S

4

A

CD

BM

N



314  4

ADE .5

A

AE AD

C B

DC BC DEz

EAD CDEB B=  

AE CE DE
2

$ =

E

F

EFAECF 3+3

EF DE=

R OAB 6

P

A

C

D OB P

COAB a=

AC ODz

ACDO a R

R

2

2

OPD

a

A

C

D

B

F

E

A

C

D

B

O

P

a



314  

3

1
 

3

2
9-7

( )
( )

f x
x 1

9
12=

+
- 7 

f'(x) IV III II I

IVIIIIII
y

x

y

x

y

x

y

x



314  

II I .8

( )f x
x2 3

2
=

-

( )g x
x2 3

2
= -

-

1

2

g(x) f(x)

A I y 2=

B II y 2=-

AB

x 3=

ABCD .9

AB 9= AD 4=

D C CD E

BC AE

F

FCEADE 3+3

DE DE x=

FCE ADE

A

CD

B

E

F

I

II

x

y


